CAST 2016 – Hot Docs Edition – May 24, 2016

Copyright 2016 James McNally and the Cinema Appreciation Society of Toronto

COLLATED RESULTS FOR BEST FILM

- 68 different feature films mentioned
- 14 voters (11 male, 3 female)
- Each voter submitted up to 10 films
- Points awarded as 10 for 1st choice, down to 1 for 10th choice
- Point ties are broken by number of first place votes, then by highest average vote.
- 1. **Tickled** (70 points, 10 mentions, 7.00 average/vote, 3 first place votes) Sarah Gopaul, Kirk Haviland, Courtney Small
- 2. **How to Build a Time Machine** (49, 6, 8.17, 3) Sean Kelly, Heidy Morales, Addison Wylie
- 3. **Tower** (40, 5, 8.00, 2) Philip Hamilton, Shahbaz Khayambashi
- 4. Life, Animated (38, 5, 7.60, 2) Polly Esther, Ian Stuart
- 5. Weiner (21, 4, 5.25, 0)
- 6. Contemporary Color (20, 2, 10.00, 2) James McNally, Ryan McNeil
- 7. Credit for Murder (19, 2, 9.50, 1) Corey Pierce
- 8. Norman Lear: Just Another Version of You (19, 3, 6.33, 0)
- 9. (tie) Lo and Behold: Reveries of the Connected World (18, 3, 6.00, 0)
- 10. (tie) The Slippers (18, 3, 6.00, 0)

OTHER FILMS WITH FIRST PLACE VOTES

1. O.J.: Made in America – Dave Voigt

INDIVIDUAL BALLOTS

Polly Esther @PollyEstherGems

- 1. Life, Animated (10)
- 2. Spirit Unforgettable (9)
- 3. The Happy Film (8)
- 4. Strike a Pose (7)
- 5. Norman Lear: Just Another Version of You (6)
- 6. League of Exotique Dancers (5)

Sarah Gopaul (digitaljournal.com) @SarahGopaul

- 1. Tickled (10)
- 2. Holy Hell (9)
- 3. Trapped (8)
- 4. My Scientology Movie (7)

- 5. Lo and Behold: Reveries of the Connected World (6)
- 6. Norman Lear: Just Another Version of You (5)
- 7. The Apology (4)
- 8. Diving into the Unknown (3)
- 9. Gulîstan, Land of Roses (2)
- 10. The Father, The Son, and the Holy Jihad (1)

Philip Hamilton (https://plus.google.com/collection/0oHANB)

- 1. Tower (10)
- 2. Life, Animated (9)
- 3. Random Acts of Legacy (8)
- 4. Under the Sun (7)
- 5. Operation Avalanche (6)
- 6. Where is Rocky II? (5)
- 7. Natural Disorder (4)
- 8. Tickled (3)
- 9. The Land of the Enlightened (2)
- 10. How to Build a Time Machine (1)

Kirk Haviland (dorkshelf.com, weraddicted.com) @MovieJunkieTO

- 1. Tickled (10)
- 2. Hip Hop Evolution (9)
- 3. Gleason (8)
- 4. Weiner (7)
- 5. Thank You Del: The Story of the Del Close Marathon (6)
- 6. Tower (5)
- 7. League of Exotique Dancers (4)
- 8. Hit It Hard (3)
- 9. Operation Avalanche (2)

Sean Kelly (SKonMovies.com, thefts.ca) @SKonMovies

- 1. How To Build a Time Machine (10)
- 2. Tower (9)
- 3. Life, Animated (8)
- 4. The Apology (7)
- 5. O.J.: Made in America (6)
- 6. Chasing Asylum (5)
- 7. Spirit Unforgettable (4)
- 8. Tickled (3)
- 9. My Scientology Movie (2)
- 10. Mattress Men (1)

Shahbaz Khayambashi (wyliewrites.com) @ShaKhayam

- 1. Tower (10)
- 2. Credit for Murder (9)
- 3. Who Killed Eloa? (8)
- 4. Lo and Behold: Reveries of the Connected World (7)
- 5. What Happened to Her? (6)
- 6. Starless Dreams (5)
- 7. Aim for the Roses (4)
- 8. Fraud (3)
- 9. Obit (2)
- 10. Southwest of Salem: The Story of the San Antonio Four (1)

James McNally (torontoscreenshots.com) @TOScreenShots

- 1. Contemporary Color (10)
- 2. All These Sleepless Nights (9)
- 3. Brothers (8)
- 4. Gulîstan, Land of Roses (7)
- 5. The Land of the Enlightened (6)
- 6. Girls Don't Fly (5)
- 7. Off The Rails (4)
- 8. Gary Numan: Android in La La Land (3)
- 9. Ukrainian Sheriffs (2)
- 10. Hotel Coolgardie (1)

Ryan McNeil (thematinee.ca) @matinee ca

- 1. Contemporary Color (10)
- 2. Cameraperson (9)
- 3. Obit (8)
- 4. Nuts! (7)
- 5. Weiner (6)
- 6. Lo and Behold: Reveries of the Connected World (5)
- 7. The Best and Most Beautiful Things (4)
- 8. Strike a Pose (3)
- 9. Fear Itself (2)
- 10. Beware the Slenderman (1)

Heidy Morales (hyemusings.ca) @HeidyMo

- 1. How to Build a Time Machine (10)
- 2. Tickled (9)
- 3. Sonita (8)
- 4. In the Shadow of the Hill (7)
- 5. The Slippers (6)
- 6. Living with Giants (5)

- 7. Putuparri and the Rainmakers (4)
- 8. The Man Who Saw Too Much (3)
- 9. Kaisa's Enchanted Forest (2)
- 10. Death by a Thousand Cuts (1)

Corey Pierce (www.rowthree.com/category/podcast/ostl/) @coreypierceart

- 1. Credit for Murder (10)
- 2. How to Build a Time Machine (9)
- 3. Holy Hell (8)
- 4. Weiner (7)
- 5. Tony Robbins: I Am Not Your Guru (6)
- 6. Tickled (5)
- 7. The Slippers (4)
- 8. Magicians: Life in the Impossible (3)
- 9. My Scientology Movie (2)
- 10. Life, Animated (1)

Courtney Small (cinemaaxis.com) @SmallMind

- 1. Tickled (10)
- 2. How to Build a Time Machine (9)
- 3. Angry Inuk (8)
- 4. Nuts! (7)
- 5. God Knows Where I Am (6)
- 6. The Pearl of Africa (5)
- 7. The Shining Star of Losers Everywhere (short) (4)
- 8. Sonita (3)
- 9. The Apology (2)
- 10. Diving Into the Unknown (1)

Ian Stuart (silverscreendiscoball.wordpress.com)

- 1. Life, Animated (10)
- 2. Random Acts of Legacy (9)
- 3. Where is Rocky II? (8)
- 4. Operation Avalanche (7)
- 5. Natural Disorder (6)
- 6. The Land of the Enlightened (5)
- 7. Tickled (4)
- 8. Strike a Pose (3)
- 9. Under the Sun (2)
- 10. Mr. Gaga (1)

Dave Voigt (intheseats.ca) @PopCulturePoet

- 1. O.J. Simpson: Made in America (10)
- 2. God Knows Where I Am (9)
- 3. Norman Lear: Just Another Version of You (8)
- 4. Tickled (7)
- 5. Tower (6)
- 6. Obit (5)
- 7. Cameraperson (4)
- 8. City 40 (3)
- 9. Mattress Men (2)
- 10. Weiner (1)

Addison Wylie (wyliewrites.com) @AddisonWylie

- 1. How to Build a Time Machine (10)
- 2. Tickled (9)
- 3. The Slippers (8)
- 4. Off the Rails (7)
- 5. Hotel Coolgardie (6)